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4’% I 50A 1. Donnais to strong smells.
(A) sensible (B} sensuous {C) sensitive (D) sensory
2. Arnold resolved to the company’s new regulation.
(A) adept (8) adopt (C) adapt (D) adore
3. The farmer decided to the fields.
(A) assassinate (B) diagnose (C) cultivate (D) moisten
4, is the study of the means by which people gain their livelihood.
(A) Economics (B) Economy (C) Economic (D) Economical
S. The street was with many people because of the special festival.
(A) full (8) blocked (C) sum (D) filled

6.  Jane took the faulty smart phone and a valid receipt to the store and geta
A. premium B. refund C. guarantee D. duplication
7. Thecommuterwasina______ when he missed the last train home,
' A. predicament ©  B. prosperity C. perspective D. prediction
8.  The thief that he was innocent but no one believed him.
A. assisted  B. resisted C.insisted  D. desist
T 9. The pupil Germany with German,; therefore, he got a B.
A.confused B. consumed C. convinced D. confirmed
10. The signer is _ about signing the contract although the pay for her
performance will be remarkable.
A. responsible B. objective  C. consignable D. hesitant

B. Grammar: 20%

1. Mr. Stone had the mechanic_,____,__his‘car.' & W —_— — —
- —  Wfix T T Bifies () fixing (D) to fix > 2 B &
2. Characters in detective stories tend to be more complex than ™ H Bl Rl
(A) love stories (B) those in love stories
(C) in love stories (D) love stories are
3. Eyedrop cure eye discomfort effectively. % I Eﬂ:j
(A) minor (B) away (C) mirror (D) of ZRINTZ
4. A shutout describes a game in which points are scored.
{A) not {B) none (C) no (D) never
S. bribes, wealthy people are able to influence corrupt politicians.
(A) Meaning  (B) Means of (C) Means by (D) By means of
6. College students may drop out of school difficulties in affording the tuition.
(A) since (B) if (C) because of (D) that is
7. Jazzis a type of music a regular beat and repeated melody.
{A) it has (B} that has {C) has (D) that it has
8. his death in 1506, Columbus continued to believe the New World to be
the remoter of the Far East.
(A) At (B) After (C) Until (D) During
9. You'd better to school early because of the traffic.
(A) go (B) to go (C) going (D) goes
10. You need to the street to find your bus stop.

(A)gocross  (B)cross (C) across (D) go crossed

C. Close (20%): Choose the best word or phrase to complete the sentence in context.
Most North Americans _(1) _ their children to move _(2) the house at
eighteen. But that is changing. Currently, more adult children _(3) home to live.
Some don’t have jobs or can’t pay for the high costs of _(4) . Some are recently
separated or divorced. Most are _(5) , but some come home with a wife, husband,

or child, too.
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1. A.expect B. respect C. suspect D. retrospect

2. A.offto B. sort of C.outof D. close to

3. A.areleaving B.arereturning  C. is departing D. is buying
4. A. house B. housing  C. houses D. housed )
5. A.twins B. widow C. single D. relatives

Traditionally, human beings have recognized their growing attraction for other
people _(6)  states of physical proximity. _(7) _ maybe the platonic relationship that
one might develop with a pen pal, it is natural that you want to see and know the other
person before developing genuine desire for that person. But Internet social life
demonstrates that it is not _(8) to see someone in order to begin to feel something
for that person. Sometimesitis _(9) to get to know someone because online there

are fewer of the inhibitions that normally go _(10) visual contact.

6. A.in B.to C. with D. via

7. A.Inaddition to B. Due to C. Except for D. With respect to
8. A. optional B.necessary - C.acceptable D. agreeable

9. A.easier B.unbelievable C.incredible D. difficult

10. A. of B. into C.for D.with
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